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Top mass
• The referee wanted us to provide the figure of 2d scan of mass vs. 

alphas.
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• We expect to get the figure like this:
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Top mass

• But we cannot get a closed curve.

The reason is:

mass/GeV

alpha_s xsec

The fit method we use is number counting method.

Since the xsec of the lower-left and the upper-right 
changes mildly, we cannot get a closed curve.

Xiaohu has sent email to them, for we would like to 
know what knid of method they use to get the 
closed curve.
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Unfinished

342.75, 344.25, each sqrt(s) is given 50fb-1
(total lum unchanged)

Still need to be done:
1. Find the best point
selection scheme
2. Get the error
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